
      WALA: Multiplication Word problems      

                 

There are 3 cows in the farm. Each of them has 4 legs. How many 

legs are there altogether? 

 

 

 

If a sheep dog ate 3 meals each week, how many would he eat in 6 

weeks? 

 

 

 

The farmer found 3 pens with 7 eggs in. How many eggs were there 

altogether? 

 

 

 

If a Diplodocus ate 10 trees 3 times a day, how many would he eat in 

one day? 

 

 

 

 

2 children go to the Natural History Museum. Each child buys 12 

pencils in the shop. How many pencils do they buy altogether? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


